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SOP form: f = Fixy + Tads
POS form: f = (F| + T ) (22 + 23)

SOP form: f= 217y + 2125 + Tas
POS form: f = (z) + x3)(x] + T2)(T2 + 23)

. SOP form: f = Fixo2r5T4 + 2122F524 + TolzLa

POS form: f = (El -- .12.1_](.?:2 + :t!,ﬂ(fg + x5+ E.ﬂ (.‘Eg | 134) (.‘.E_]_ -+ .1233]

SOP form: f = Fa¥sz + Fads + Tarz2
POS form: f = (Eﬁ -+ .135](.7‘:2 + &3+ Eg](fz —+ -13_1_]

. SOP form: f = Es¥5 + Tz + Tal4Ts + T1L5E4L5 + L182T4 05

POS form: f=(Tz+ & + &5 )Tz + Ty +Ts) (2 + B+ Ta)(z, + &3+ 24+ T5)(Fy + 22+ 24 + Ts)

SOP form: f = #3Xads + TaFads + £12485 + &1 L2ka + F3ladls + Tadzla + Talz3l4Ts
POS form: f = (335 =+ &1+ .‘65_\](53 + 4+ E&j(-’fl + Ez -+ E:s -+ E.; -+ 175)

J = x1@eaks + #1024 + 2103289 + Xo32

SOP form: f = .T:J_IQE;; -+ .1:152.2:4 -+ 3.31.?5354 -+ E]_.Fz.’.t?;j + E_]_.??:s.l?.; -+ Igfsif.;
POS form: f = (&1 + &2 + &3)(21 + 22 + Za) (21 + 23 + 24)(22 + T3 + 24)(F1 + T2 + T3 + T4)
The POS form has lower cost.

The first 3 product terms are shared, hence the total cost is 31.
J=(xsTa) T (g Tg)Tes) where g = (21 1 (22 T 22)) T ((x1 Tx1) T 22)

[=es Las) Loy L (g 4 9) L (ea | 24)), where
g=((er )} xa) L (e (22l 22)). Then, f=F L [

421 f=g-h+47g-h where g = 222 and b = 23+ 24

4.22

g = xs(T1 + x2)

Fo=

(TzTy + 2324)7 + TaPag = 2alag + T3lag + Tadag

Cost=9 4 18 =27



